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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
EHE R
= 1 751, 347, 800
JE T
= 1 47, 501, 700
23N
m3 60 268, 000
PR (SR B 2. bR
= 1 171, 000
PR (SR B 2. 5mPh 4. OmATi
= 1 24, 000
b TE b Cash ERIRY L&)
= 1 63, 000
FEIA O=27) +H) + 50, 000m3LL
= 1 10, 000
B AR 1 T (1CT)
m3 26, 100 36, 586, 000
B (L) Bk - (ICT)
= 1 6, 300, 000
b TE b Cash ERIRY L&)
= 1 26, 136, 000
FEIA O—=27) +4) + 50, 000m3LL
= 1 4, 150, 000
BEREE T
m3 40 73,700
B R 1 2. 5mPh 4. OmATi
= 1 32, 000
b TE b Cash ERIRY L&)
= 1 36, 000
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TSy - AR - FEB - MBI B BRI EAL K & B E A & | (GBS
FHIA (b=27) +#p +850, 000m3L4 E
= 1 5, 700
PR+ T (1CT)
m3 7,000 10, 574, 000
PR &+ (1CT)
= 1 2, 420, 000
b S T Cadl- EREY 15T
= 1 7,038, 000
FEHIA (b=27) +#p +850,000m3L4 E
= 1 1, 116, 000
M S R T
= 1 103, 410, 400
5 PR 22 TEJLEE T
(RIERELPET)
= 1 16, 419, 700
BT AL LA T LR 100m2 8 72 0 i i &y
14. 64t/100m2 i b RE[LAF
(45 AilivR - BE)
m2 337 3, 600 1,213, 200
BT AL LA T LR 100m2 8 72 0 i i &y
16. 04t/100m2 i bR E{LAF
(45 AilivR - BE)
m2 48 3, 800 182, 400
BT AL LA T LR 100m2 8 72 0 i i &y
16. 96t/100m2 v bR E{LAF
(95 AilivR 1-B%)
m2 1,310 4,000 5, 240, 000
BT AL LA T LR 100m2 8 72 0 i i &y
17.28t/100m2 i hRE{LAF
(95 AilivR 1-B%)
m2 44 4,000 176, 000
BT AL LA LR 100m2 8 72 0 fifi i &y
17.82t/100m2 i bR E{LAF
(95 AilivR 1-B%)
m2 50 4,100 205, 000
BT AL LA LR 100m2 8 72 0 fifi i &y
23.76t/100m2 A bR FELH
(85Ailink - B%)
m2 205 5, 200 1, 066, 000
L TE QLR Im% 8 2 2mPL N [E{bAF100m2 & 72
D EFE 26.01t/100m2 tAv/hRIHE
(35 AilinR - BE) {b#f
m2 288 6, 200 1, 785, 600
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L TE AL Im% 8 2 2mPL N [E{bAF100m2 & 72
D EFE 26.31t/100m2 v/ RIHE
(8= AilinR - BE) e 7]
m2 298 6, 300 1, 877, 400
LT AL Im% 8 2 2mPL N [E{bAF100m2 & 72
D EF& 27.65t/100m2 YA/ hRIE
(45 AlinR - BE) e 7]
m2 46 6, 500 299, 000
LT AL Im% 8 2 2mPL N [E{bAF100m2 & 72
D EF& 28.7t/100m2 YAV N RIE
(45 AlinR - BE) e 7]
m2 653 6, 700 4, 375, 100
[ A
= 1 86, 990, 700
TR G AL B S BIERESn<L=10m i THIEL100
Om3LL b [EALAL A £ 140kg/m3
(8= AilinR - BE) — ks + A
m3 755 5, 300 4,001, 500
TR G AL B R 10m<L=13m fi THIHE10
00m3LA L= [E{LAS ¥R AT #:100kg/m3
(35AilinR - BE) —fikEs A
m3 8, 290 4,700 38, 963, 000
TR G AL B R 10m<L=13m fi THHE10
00m3LA L= [E(LAS RS 7140k /m3
(8= AilinR - BE) — ks A
m3 8, 153 5, 400 44, 026, 200
PERE T
= 1 562, 722, 700
E¥+ T
= 1 6, 408, 000
YaPTFIHERE T (M &M BifL)
= 1 18, 485, 000
A pERE 2mPA E5mEL T 18-8-25 (FiF)
m3 174 64, 000 11, 136, 000
A pERE 2mPA E5mEL T 18-8-25 (FiF)
m3 121 59, 000 7,139, 000
PR R & #K t=50mm
m 140 1, 500 210, 000
BT ET HERE 1.
= 1 3,877, 000
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avp)-p 24-12-25(20) (% JF)
m3 28 32, 000 896, 000
A SD345 D13
t 5.99 160, 000 958, 400
ERAR SD345 D16~25
t 1.91 160, 000 305, 600
Tl — AT
= 1 1, 710, 000
H Hi B HEMEE B i =10
m2 2 3, 500 7, 000
B R e - 7 h—AloR T RE
(3%)
= 1 83, 252, 200
Ao B L 18-8-25 (& 47)
(B=400mm)
m 39 7, 300 284, 700
Ao B L 18-8-25 (& 47)
(A e L 56)
m 137 6, 300 863, 100
FEEEMZR 18-8-25 (& 47)
m 3 5, 300 15, 900
i BR BERE A RELNT - RRE A ER A R R
m2 769 31, 000 23, 839, 000
i BRAA B A ER A R R
m 9,115 1,700 15, 495, 500
FEHL-BHL, HED A ER A R R
m3 3, 700 1, 500 5, 550, 000
BE T 75 PR E RC-40
m3 380 3, 200 1, 216, 000
AP e RC-40
m3 2, 800 3, 200 8, 960, 000
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0% H LB AL t=2. Omm
m2 1, 600 700 1, 120, 000
Az ) —) B=300 24-12-25(20) (&%)
m 179 29, 000 5,191, 000
W HEHEK B EER ) oFL A ¢ 200 HEFLAE
m 4 12, 000 48, 000
T 5 A e H=1. 95m
m 156 109, 000 17, 004, 000
T 5 A e H=2. 05m
m 19 113, 000 2, 147, 000
T 5 A e H=2. 25m
m 10 123, 000 1, 230, 000
HEHE KB 3% E VP E£300mm
m 10 28, 800 288, 000
B E e - 7 h—AloR R
(4%)
= 1 147, 894, 000
Ao B L 18-8-25 (& 47)
(B=400mm)
m 168 7, 200 1, 209, 600
Ao B L 18-8-25 (& 47)
(i e L)
m 120 6, 300 756, 000
Ao A LR (B2 18-8-25 (& 47)
&0 3 13, 000 39, 000
Ao L RERE A AT - B E Hr AR 1
m2 1, 366 29, 000 39, 614, 000
i BRAA B WAl R R
m 16, 104 1, 700 27, 376, 800
FEHL-BH L, HED Hr Al R R
m3 6, 300 1, 900 11, 970, 000
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BT 75 P S RC-40
m3 680 3, 200 2,176, 000
AP E RC-40
m3 5, 600 3, 200 17, 920, 000
0% H LB AL t=2. Omm
m2 2,950 700 2,065, 000
Az ))—) B=300 24-12-25(20) (&%)
m 294 27, 000 7,938, 000
W HEHEK B R ) oFL A ¢ 200 HEFLAE
m 6 13, 000 78, 000
T 5 A e H=1. 85m
m 62 101, 000 6, 262, 000
T 15 A e H=1. 95m
m 236 109, 000 25, 724, 000
T 5 A e H=2. 05m
m 9 114, 000 1, 026, 000
T 5 A e H=2. 95~3. 05m
m 10 157, 000 1, 570, 000
T 5 A e H=3. 05m
m 6 170, 000 1, 020, 000
T 5 R A e H=3. 55m
m 5 180, 000 900, 000
HEHE KB 3% E VP E£300mm
m 8 31, 200 249, 600
B E e - 7 h—HloR R
(8%)
= 1 137, 779, 900
Ao B L 18-8-25 (& 47)
(B=400mm)
m 66 7, 200 475, 200
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Ao B L 18-8-25 (& 47)
(it e L)

m 160 6, 300 1, 008, 000
Ao B L 18-8-25 (& 47)
(B=600mm)

m 16 7,900 126, 400
Ao A LR (B2 18-8-25 (& 47)

&0 1 32, 000 32, 000
FEEEMZR 18-8-25 (& 47)

m 3 11, 000 33, 000
Ao L RERE A AT - B E Hr e AR 1R

m2 1,362 30, 000 40, 860, 000
i BRAA B Hr Al R R

m 17, 969 1, 700 30, 547, 300
FEHL- BB L, FiED Hr Al R R

m3 6, 800 2,100 14, 280, 000
BE T 75 PR E RC-40

m3 670 3, 200 2, 144, 000
AP E RC-40

m3 4, 300 3, 200 13, 760, 000
0% H LB AL t=2. Omm

m2 2, 200 700 1, 540, 000
Az ))—) B=300 24-12-25(20) (&%)

m 245 25, 000 6, 125, 000
W HEHEK B EER ) oFL A ¢ 200 HEFLAE

m 4 12, 000 48, 000
T 5 R A e H=1. 95m

m 239 109, 000 26, 051, 000
T 5 A e H=3. 85m

m 3 197, 000 591, 000
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HEHE KB 3R E VP E£300mm
m 6 26, 500 159, 000
B E e - 7 Al oR T RE T
(9%)
= 1 141, 541, 900
Ao B L 18-8-25 (& 47)
(B=400mm)
m 173 7, 200 1, 245, 600
Ao B L 18-8-25 (& 47)
(i e L)
m 98 6, 300 617, 400
Ao A LR (B2 18-8-25 (& 47)
&0 1 11, 000 11, 000
Ao L RERE A AT - B E Hr e AR 1R
m2 1,337 28, 000 37, 436, 000
i BRAA B Hr Al R R
m 15, 502 1, 700 26, 353, 400
FEHL-BH L, HED Hr Al R R
m3 5, 800 2,100 12, 180, 000
BE T 75 PR E RC-40
m3 660 3, 200 2,112, 000
AP e RC-40
m3 5, 700 3, 200 18, 240, 000
0% H LB AL t=2. Omm
m2 2, 860 700 2,002, 000
Az ))—) B=300 24-12-25(20) (&%)
m 277 26, 000 7,202, 000
W HEHEK B EER ) oFL A ¢ 200 HEFLAE
m 6 13, 000 78, 000
T 5 A e H=1. 85m
m 84 102, 000 8, 568, 000
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T 5 R A o e H=1. 85~1. 95m
m 10 109, 000 1, 090, 000
T 5 R A e e H=1. 95m
m 195 109, 000 21, 255, 000
T 5 A e e H=2. 05m
m 11 105, 000 1, 155, 000
T 5 A e H=3. 05m
m 6 170, 000 1, 020, 000
T 5 A e H=3. 75m
m 3 240, 000 720, 000
HEHE K 3R & VP E£300mm
m 9 28, 500 256, 500

BT B il A T

(3%)

1 1, 805, 000
FERREA b
(A e L 56)
m 3 1, 500 4, 500
eV 24-12-25(20) (% JF)
m3 7 32, 000 224, 000
Tl — AT
= 1 198, 000
A SD345 D13
t 0.39 160, 000 62, 400
H Hi T HRME R B Hi t=20
m2 5 4, 800 24, 000
8 LAy bLEE
= 94, 000
B B R T AL - R R9Yan’ v
m2 14 54, 000 756, 000
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i BRAA B
m 245 1,700 416, 500
BT 75 PR S RC-40
m3 8 3, 200 25, 600
BUGFT Ao L BE T
(45)
= 1 9, 763, 400
FERREA B+ H A
(RE A5 56)
m 3 3, 000 9, 000
FERREA Howb
(A e L E6)
m 13 1, 500 19, 500
eV 24-12-25(20) (% JF)
m3 40 32, 000 1, 280, 000
Tl — AT
= 1 1, 080, 000
Y] SD345 D13
t 2.19 160, 000 350, 400
H Hi VB HRME R B HiA t=20
m2 22 4, 800 105, 600
iz LAy MAEE
= 1 470, 000
A5 R BE [ A RN - B FoYan’ f
m2 84 49, 000 4, 116, 000
i BRAA B
m 1,297 1,700 2,204, 900
BE T 75 PR E RC-40
m3 40 3, 200 128, 000
BUGFT OAfioR L BE T
(8%5)
= 1 2, 111, 400
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FERREAY Howb
(A S L)
m 2 1, 500 3, 000
eV 24-12-25(20) (% JF)
m3 8 32, 000 256, 000
Tl — AT
= 1 216, 000
A5 SD345 D13
t 0. 44 160, 000 70, 400
H Hi VB HRME R B HiA =20
m2 5 4, 800 24, 000
iz LAy ML
= 1 94, 000
B B B T AL - R Ry an fiv
m2 18 49, 000 882, 000
i BRAA B
m 316 1,700 537, 200
BE T 75 PR E RC-40
m3 9 3, 200 28, 800
BUGFT OAfioR L BE T
(9%5)
= 1 9, 804, 900
FERREA B+ A
(RE A5 56)
m 2 3, 000 6, 000
FERREA b
(b e L 56)
m 13 1, 500 19, 500
av)-p 24-12-25(20) (% JF)
m3 41 32, 000 1, 312, 000
Tl — AT
= 1 1, 080, 000
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A SD345 D13
t 2.23 160, 000 356, 800
H Hi VB HRME R B HiA =20
m2 23 4, 800 110, 400
) Bty ML
= 1 517, 000
B B B T AL - R Ry an fiv
m2 87 47, 000 4, 089, 000
i BRAA B
m 1,286 1,700 2, 186, 200
BT 75 PR S RC-40
m3 40 3, 200 128, 000
Pk A& T
= 1 35, 463, 600
Pk A iE ) T
= 1 35, 463, 600
Pk A IEY)
= 1 35, 463, 600
% T
= 1 2, 249, 400
RImE T
= 1 2, 249, 400
AR B
= 1 2, 249, 400
B L HE
= 1 751, 347, 800
BTl TE:
= 1 76, 537, 500
—_ 12 —
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HiE R
= 1 10, 637, 500
TR
= 1 6, 450, 000
T RR A Sy FRAR ST A R
= 1 6, 450, 000
Htre m
= 1 777, 500
B M R FEART IR
= 1 57, 500
A7 b R
= 1 86, 000
PREFE B (ICT)
= 1 98, 000
VAT LRI (ICT)
= 1 536, 000
BUGERRYCEE (K5 1)
= 1 3, 410, 000
HimE R (FE L)
= 1 65, 900, 000
Wi
= 1 827, 885, 300
BTk X=giiv oy
= 1 231, 000, 000
R 5]
= 1 1, 058, 885, 300
— e
= 1 71, 114, 700
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
TSk
= 1 1, 130, 000, 000
TH & B 2 %8
= 1 113, 000, 000
TG
= 1 1, 243, 000, 000
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